PG-266 MEC-25

M.A. DEGREE EXAMINATION —
JUNE, 2018.

Second Year
STATISTICAL METHODS

Time : 3 hours Maximum marks: 75

PART A — (3 x 5 = 15 marks)
Answer any THREE questions.
1.  What are the characteristics of a good Table?
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2. If the mean of 10 values is 60 and sum of squares
of deviation from the assumed mean 50 is 5000,

calculate the standard deviation of these
10 values.
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Calculate the Karl Pearson correlation co-efficient.

X: 12 9 8 10 11 13 7

Y: 14 8 6 9 11 12 3
Coparapd  grejsefer  gliuamLuld®d  smie—
“wirgnailen el (Hmeyds Ca(pameud HTams.

Explain the components of a Time Series.
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Bringout the significance of Random Sampling.
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PART B — (4 x 15 = 60 marks)

Answer any FOUR questions.

The number of telephone calls received in 245
successive one minute intervals at an exchange
are given below :

NumberofCalls: 0 1 2 3 4 5 6 7

Frequency : 14 21 25 43 51 40 39 12

Calculate the mean, median and mode.
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7. Find out the standard deviation from the following
data :

Wages/Day in Rs.  Number of Persons

140 - 160 12
160 — 180 18
180 — 200 35
200 - 220 42
220 - 240 50
240 - 260 45
260 — 280 20
280 - 300 8
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140 — 160 12
160 — 180 18
180 — 200 35
200 - 220 42
220 - 240 50
240 - 260 45
260 — 280 20
280 - 300 8

Explain the uses of correlation and regression in
economic analysis.
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Estimate Y, = a + bX; from the data
Y: 30 37 42 32 35 45 40 35

X: 50 40 60 46 50 48 59 47
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10.

11.

12.

Bringout the methods of study of Association of
attributes.
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Explain the uses and limitation of Index Numbers.

GO QL arsafler  LiwiengeT  WwOMLD  UFDLS6T
Noufésa .

The marks obtained in a competitive examination
follow the Normal Distribution with mean 45 and
standard deviation 10. If 1000 students appeared

for the examination, calculate the number of
students scoring.

(a) Less than 40 marks
(b) More than 60 marks
(¢) Between 40 and 50 marks.
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